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1. �ò6¶!ÆÒ��Ù"

2. �Áòco��K� 100 ©¶���K�N\K"�Á�m� 120 ©¨"

�! QãK£ 20©¤

1. � f : Rn → Rm�õ��þ�¼ê, x0 ∈ Rn. Qã f 3 x0 ���½Â.£ 10©¤

2. Qã��?ê Cauchy �O{(�����O{)�^�9(Ø, ¿Þ��ØU^

Cauchy �O{�OÂñ5�~f.£ 10©¤

�! �äK£ 20©¤�äXe?ê�ñÑ5¿`²nd:

1.
∑∞

n=1 cos n.£ 5©¤

2.
∑∞

n=1 sin 1
n2 .£ 5©¤
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3.
∑∞

n=2
1

n(ln n)2
.£ 5©¤

4.
∑∞

n=1 ln[1 + (−1)n

2n
].£ 5©¤

n! O�K£ 20©¤

1. �§ x2 + 2y2 + 3z3 + 2xy − z = 7 3 (1,−2, 1) NCû½
Û¼ê z = z(x, y). ¦

∂2z
∂x∂y

(1,−2) ��.£ 10©¤

2. ¦¼ê f(x, y, z) = x3 + y3 + z3 3�å^� x + y + z = 0, x2 + y2 + z2 = 12 e�

4�.£ 10©¤
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o! y²K£ 40©¤

1. �?ê
∑∞

n=1 n · an Âñ. y², ?ê
∑∞

n=1 an �Âñ. (J«: Abel �O

{.)£ 10©¤

2. � λ ∈ (0, 1)��½�¢ê, f : Rn → R ����õ�¼ê, �
∑n

j=1(
∂f
∂xj

)2 ≤ λ.

y²

(i) |f(x)− f(y)| ≤
√

λ‖x− y‖, ∀ x, y ∈ Rn; (ii) � n = 1�, �3��� x ∈ R,

¦� f(x) = x. ( 10©¤

3. � α > 1, an > 0, P Sn =
∑n

i=1 ai, n = 1, 2, · · ·. y²?ê∑∞
n=1

an

Sα
n
o´Âñ�.

(J«: �^È©�O{�g�.)£ 10©¤
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4. � A = (aij) � n �¢�½é¡�
, bi(i = 1, 2, · · · , n) �¢ê. �Ä Rn þ�¼

ê f(x1, x2, · · · , xn) =
∑n

i,j=1 aijxixj −
∑n

i=1 bixi. y²

(i) f 3 Rn þk������:; (ii) f ����� −1
4

∑n
i,j=1 aijbibj, ùp aij

´ A �_Ý
3 ij  ����. £ 10©¤

Ê! N\K£ 10©¤� f : Rn → Rn ������N�, f � Jacobi Ý
�òz,

¿� f �_N� f−1 ëY. y², f−1 �´���.


